Ersatzteilliste

Spare parts list 4651867
(2010/07) En

Atmospharischer Gasbrenner
G114/G124 Th

8738890266.aa.RS-G114/G124Th

Buderus

20.07.2010 1 4651867




20.07.2010 2 4651867



Wichtige Hinweise
« Ersatzteile diirfen nur von einem zugelassenen
Installateur eingebaut werden!
« Im Anhang finden Sie:
- die Ubersetzungen aller verwendeten
Teilebezeichnungen
- eine Ubersicht der Gerétetypen und Lander, fiir
die diese Ersatzteilliste gilt.

Deutsch

Important notes
 The spare parts may only be installed by an
approved installer!
+ In the appendix you will find:
- a list of translations of the names of all parts
used
- a list of the models and countries to which this
spare parts list applies.

<
2
=
c
11}

Indications importantes
« L'installation des piéces de rechange doit étre
effectuée par un professionnel qualifié!
« Veuillez trouver en annexe:
- les traductions de toutes les désignations des
piéces utilisées
- une vue globale des types de chaudiéres et des
pays pour lesquels la présente liste des piéces
de rechange est valable.

Frangais

Informacodes importantes

* Pecas de substituicdo sé podem ser montadas
por um técnico credenciado!

« Em anexo encontra:

Portugués

- as traducdes das designacgdes de todas as
pecas utilizadas.

- lista dos aparelhos e paises para os quais esta
lista de pecas de substituicao é valida.

20.07.2010

Avvertenze importanti
* Le parti di ricambio possono essere montate
esclusivamente da personale qualificato ed in
possesso dei requisiti tecnico-professionali!
« In appendice sono reperibili:
- traduzione di ogni descrizione relativa alle varie
parti di ricambio
- elenco di sigle e codici, corrispondente ai vari
paesi di destinazione.

Indicaciones importantes
« Los repuestos solamente deben ser montados
por los servicios técnicos oficiales de la marca!
 En el anexo podra encontrar:
- la traduccioén de todas las denominaciones de
piezas empleadas
- una relacién de los tipos de aparato y paises en
los que se aplica esta lista de repuestos.

Belangrijke aanwijzing
« Onderdelen mogen alleen door een erkend
installateur worden vervangen!
« In de bijlage vindt u:
- de vertalingen van de gebruikte
onderdelentekeningen
- een overzicht van toesteltypen en de landen
waarvoor deze onderdelenlijst bedoeld is.

Onemli Bilgiler

* Yedek parcalar sadece yetkili tesisatgilar
tarafindan monte edilebilir!

« Asagidaki bilgileri ekli olarak bulabilirsiniz:
- Tdm kullanilan parca tanimlarinin terciimeleri
- Bu yedek parca listesinin gecerli oldugu tiim

cihaz cesitleri ve Ulkelerin 6zeti.

4651867

Italiano

Espaiol

Nederlands

Turkge



Ersatzteilliste
Spare parts list

8738890267.aa.RS-Brennervarianten

1

Brennervarianten, Gasartumbau-Set Atmosphéirischer Gasbrenner

Burner versions

G114/G124 Th

20.07.2010

4651867




Bezeichnung

Bestell-Nr.

PG

Bemerkungen

description Ordering no. § Remarks
<
1 |Gasbr GK,GE114/G124 8-10/2 Eg 5666720 74 m
1 |Gasbr GK,GE114/G124 11-14/3 Eg 5666721 75 =
1 |Gasbr GK,GE114/G124 15-18/3 Eg 5666722 74| m
1 |Gasbr GK,GE114/G124 19-20/4 Eg 5666723 75 =
1 |Gasbr GK,GE114/G124 21-25/4 Eg 5666724 75 =
1 |Gasbr GK,GE114/G124 26-32/5 Eg 5666725 75 =
Hauptgasdiise 1,30 Bohrung Sw17 16lg 5482129 13| m 20kW FG
Hauptgasdise 1,35 Bohrung Sw17 16lg 5482664 13/ m 14kW FG
Hauptgasdiise 1,45 Bohrung Sw17 16lg 5482665 13| m 25/32kW FG
Hauptgasdise 1,55 Bohrung Sw17 16lg 5482666 13/ m 18kW FG
Hauptgasdiise 1,65 Bohrung Sw16 16lg 5484056 13| m 10kW FG
Hauptgasdise 2,70 Bohrung Sw16 16lg 5484136 14 ' m 14-32kW EG-H
Hauptgasdiise 3,00 Bohrung Sw16 16lg 5484148 14| m 10kW EG-H
Hauptgasdise 3,10 Bohrung Sw16 16lg 5484152 15/ | 14-32kW EG-L
Hauptgasdiise 3,30 Bohrung Sw16 16lg 5484160 14| m 10kW EG-L
Umstt G1_4-10 Fg,Sg auf Eg-L VE 5546892 41|
Umstt G1_4-14-32 Fg,Sg auf Eg-L 5546897 42| m
Umstt G124 10/2 Sg auf Eg-L VE 1483 5546898 31 .
Umstt G124 14/3 Sg auf Eg-L VE 1483 5546899 32 .
Umstt G124 18/3 Sg auf Eg-L VE 1483 5546900 32 m
Umstt G124 20/4 Sg auf Eg-L VE 1483 5546901 32 .
Umstt G124 25/4 Sg auf Eg-L VE 1483 5546902 32 m
Umstt G124 32/5 Sg auf Eg-L VE 1483 5546903 34 m
Umstt G1_4-10 Fg,Sg auf Eg-H VE 5546904 41|
Umstt G1_4-14-32 Fg,Sg auf Eg-H 5546909 42| m
Umstt G124 10/2 Sg auf Eg-H VE 1485 5546910 31 .
Umstt G124 14/3 Sg auf Eg-H VE 1485 5546911 33 .
Umstt G124 18/3 Sg auf Eg-H VE 1485 5546912 33 .
Umstt G124 20/4 Sg auf Eg-H VE 1485 5546913 32 m
Umstt G124 25/4 Sg auf Eg-H VE 1485 5546914 3B m
Umstt G124 32/5 Sg auf Eg-H VE 1485 5546915 36 =
Umstt G1_4-10 Eg,Sg auf Fg VE 5546928 37 m
Umstt G1_4-14 Eg,Sg auf Fg VE 5546929 37 m
Umstt G1_4-18 Eg,Sg auf Fg VE 5546930 37 m
Umstt G1_4-20 Eg,Sg auf Fg VE 5546931 39 m
Umstt G1_4-25-32 Eg,Sg auf Fg, VE 5546933 39 m
Gasbr GK,GE114/G124 8-10/2 Fg 5666726 74 m
Gasbr GK,GE114/G124 11-14/3 FG 5666727 74 ' m
Gasbr GK,GE114/G124 15-18/3 Fg 5666728 74 m
Gasbr GK,GE114/G124 19-20/4 FG 5666729 75 =
Gasbr GK,GE114/G124 21-25/4 FG 5666730 75 =
Gasbr GK,GE114/G124 26-32/5 FG 5666731 75 =
Gasbr GK,GE114/G124 8-10/2 SG 5666732 74 m
Gasbr GK,GE114/G124 12-14/3 Sg 5666733 75 =
Gasbr GK,GE114/G124 15-18/3 SG 5666734 75 =
Gasbr GK,GE114/G124 19-20/4 SG 5666735 75 =
Gasbr GK,GE114/G124 21-25/4 SG 5666736 75 .
Gasbr GK,GE114/G124 26-32/5 SG 5666737 75 =
Blockierungssatz - nZ 45.002.034.001 5802330 28/ m
Zundgasdise Nr3 FG 5802365 12/'m
Aufsteckfeder DN37,5 5802390 16| =
Druckregler V 5306 E 1010 5802410 37 m

Atmospharischer Gasbrenner
G114/G124 Th

Brennervarianten, Gasartumbau-Set
Burner versions

20.07.2010

4651867




Ersatzteilliste
Spare parts list

8738890267.aa.RS-Brennervarianten

1

Brennervarianten, Gasartumbau-Set Atmosphéirischer Gasbrenner

Burner versions

G114/G124 Th

20.07.2010

4651867




Pos |Bezeichnung Bestell-Nr. PG | g Bemerkungen
description Ordering no. § Remarks
<
Zindgasdise Nr5 Eg Furi 5802415 12| m
Zindgasduise Kennziffer 48 Eg 5802685 15| =
Zindgasdise - 42 - Fg 5802695 16 =
Dichtring 13x18x1,5 5883094 02 m
Hinw-Schild "Naturgas H umgestellt" 5977322 13| m
Hinw-Schild "Erdgas L umgestellt" 5977324 13/ =
Trockenabziehbild Flissiggas 87185728500 15 m

Atmospharischer Gasbrenner
G114/G124 Th

Brennervarianten, Gasartumbau-Set
Burner versions

20.07.2010

4651867




Ersatzteilliste
Spare parts list

8738890268.aa.RS-Brennrost

Brennrost
burner grate

Atmospharischer Gasbrenner
G114/G124 Th

20.07.2010

4651867




Pos | Bezeichnung Bestell-Nr. PG | g Bemerkungen
description Ordering no. § Remarks
1 |Brennrost G114/G124 2GId Keller kpl 5502891 51 m
1 |Brennrost G114/G124 3Gld kpl 5502892 54 m
1 |Brennrost G114/G124 4Gld kpl 5502893 56
1 |Brennrost G114/G124 5GId kpl 5502894 56| m
2 Druckmessdise R 1/8" Ms 5481193 11| =
3 |Warmeschutz Gasbrenner L=5M Ersatz verp 5181396 46 | =

Atmospharischer Gasbrenner
G114/G124 Th

Brennrost
burner grate

20.07.2010

4651867




Ersatzteilliste
Spare parts list

8738890269.aa.RS-Gasarmatur V4600C

Atmospharischer Gasbrenner

G114/G124 Th

Gasarmatur V4600C
Gas valve V4600C

3

4651867

10

20.07.2010



Pos |Bezeichnung Bestell-Nr. PG | g Bemerkungen

description Ordering no. § Remarks
<
1 |Doppelnippel 3/4"x51 5317689 17 ' m
2 | Dichtung 45x45x1, Asbfr DVGW-zugel 5981160 07| m
3 |Flansch C RP3/4, V 4400 winklig o Bohrun 5802255 19 =
4 Anschlussleitung Brenner 1 Honw 1370 5182076 24| m

5 | Blockierungssatz - nZ 45.002.034.001 5802330 28 m nur FG
6 | Gaskombiventil R 3/4"" V4600C 63009740 54| m
7 Uberwurfmutter DIN2950 374 3/4 G1 1/4 5802315 12| m
8 |Auslass 3/4" m Sieb u Sicherungsring 5481524 25| m
9 |Dichtung D27x38x2, DVGW-zugel 5489356 07 m
10 Thermoweiche Nr45-002-837-003 67903374 26| m
11 Piezo-Zinder Q 635 67902890 3% .
12 Zindkabel f Gasbrenner 420lg Furigas 5481205 17 | &
12 |Zindkabel f Gasbrenner 420lg Junkers 67902888 25/ m
Adapter f Gasbrenner Therm 1stufig 5802544 31/ .
Adapter f Gasbrenner Therm 2stufig 5802546 35/ m

Atmospharischer Gasbrenner
G114/G124 Th

Gasarmatur V4600C
Gas valve V4600C

20.07.2010

11

4651867




Ersatzteilliste
Spare parts list

8738890270.aa.RS-Zuindbrenner V4400C, 4600C, CE423

4

Zindbrenner V4400C,4600C,CE423 Atmosphérischer Gasbrenner

Pilot burner V4400C,4600C,CE423

G114/G124 Th

20.07.2010

12

4651867




Bezeichnung

Bestell-Nr.

PG

Bemerkungen

description Ordering no. § Remarks
<
1 |Hauptgasdise 1,30 Bohrung Sw17 16lg 5482129 13| m 20kW FG
1 |Hauptgasdise 5,60 Bohrung Sw17 16lg 5482502 13/ m 10kW SG
1 |Hauptgasdiise 5,00 Bohrung Sw17 16lg 5482662 13| m 18/25/32kW SG
1 |Hauptgasdise 1,35 Bohrung Sw17 16lg 5482664 13/ = 14kW FG
1 |Hauptgasdise 1,45 Bohrung Sw17 16lg 5482665 13| m 25/32kW FG
1 |Hauptgasdise 1,55 Bohrung Sw17 16lg 5482666 13/ m 18kW FG
1 |Hauptgasdise 1,65 Bohrung Sw16 16lg 5484056 13| m 10kW FG
1 |Hauptgasdise 2,70 Bohrung Sw16 16lg 5484136 14 ' m 14-32kW EG-H
1 |Hauptgasdiise 3,00 Bohrung Sw16 16lg 5484148 14| m 10kW EG-H
1 |Hauptgasdise 3,10 Bohrung Sw16 16lg 5484152 15/ = 14-32kW EG-L
1 |Hauptgasdise 3,30 Bohrung Sw16 16lg 5484160 14| m 10kW EG-L
1 |Hauptgasdise 4,80 Bohrung Sw16 16lg 5484232 16 | 14/20kW SG
2 | Dichtring 13x18x1,5 5883094 02 m
3 | Temp-Wach RAK74,1/3795,120-95 5992398 42 | =
4 | Schneidschraube DIN7516 A M5x10 A3K 5278060 02 m
5 |Luftleitblech f Zindbrenner 5802395 12/'m
6 | Zundbrenner V4400C,4600C,ce423 kpl 5802355 38 m
7 Schraube DIN7500 C M3x6 St A3K 5176514 01 m
8 |Zlindgasdiise Nr10 Sg 5802360 12| m
8 |Zindgasdise Nr3 FG 5802365 12| m
8 |Zlndgasdiise Nr5 Eg Furi 5802415 12| m
9 |Doppelkegelring - 47078 - 6 5802602 04 m
10 |Uberwurfmutter M11x1,5-6 5802604 09 m
11 | Schneidschraube DIN 7516 A M5x12 A3K 3613040 03 m
12 | Zindelektrode f Spiralziindbrenner 5802825 17 =
13 |Schraube DIN7500 C M3x6 St A3K 5176514 01 m
14 |Thermoelement SIT 450mm lang 7747007976 24| m
15 |Zundgasleitung 6X1 DIN1712 1000mm 87185706590 28 m
16 |Schneidringverschr D6 45002776-037B 5802262 12| m

Atmospharischer Gasbrenner
G114/G124 Th

Zindbrenner V4400C,4600C,CE423
Pilot burner V4400C,4600C,CE423

20.07.2010

13

4651867




Ersatzteilliste
Spare parts list

8738890271.aa.RS-Diffusionsziindbrenner CB505

5

Diffusionsziindbrenner CB505 Atmosphérischer Gasbrenner

Pilot burner CB505

G114/G124 Th

20.07.2010

14

4651867




Pos |Bezeichnung Bestell-Nr. PG | g Bemerkungen
description Ordering no. § Remarks

<
1 |Diffusions-Ziindbrenner CB505 116 87185754070 32 m
2 |Dichtung f Diff-Zindbrenner 5481626 12| m
3 |Schneidschraube DIN7516 A M4x10 A3K 5278040 01/ m
4 Zindgasduse Kennziffer 48 Eg 5802685 15| =
4 Zindgasdise Kennziffer 47 Fg-Luftgem 5802687 16 =
4 |Zundgasduse - 42 - Fg 5802695 16 =
5 |Kegelring 8 710 206 004 Verschraubung 6 5802830 11| =
6 | Gewindebuchse 8713 406 002 /MB 25D 3X/ 5802290 12/ m
7 |Gewindebuchse M 10 Typ RV 6 D 46 x 5481043 11| =
8 |Zindelektrode f Diffusionsziindbrenner 5802700 19 =
9 |Thermoelement SIT 450mm lang 7747007976 24| m
10 |Zlindgasleitung 6X1 DIN1712 1000mm 87185706590 28 m
11 |Schneidringverschr D6 45002776-037B 5802262 12| m

Atmospharischer Gasbrenner
G114/G124 Th

Diffusionsziindbrenner CB505
Pilot burner CB505

20.07.2010

15

4651867




Ubersetzungsliste
List of translations

Pos

Description

Element of construction

Gas burner G 114/G 124

Main gas orifice 1,30mm Drilled hole SW

Main gas orifice 1,35mm Drilled hole SW

Main gas orifice 1,45mm Drilled hole SW

Main gas orifice 1,55mm Drilled hole SW

nozzle 1,65mm SW16 16mm

Main gas orifice 2,70mm Drilled hole

Main gas orifice 3,00mm Drilled hole SW

nozzle 3,10mm SW16 16mm

Main gas orifice 3,30mm Drilled hole SW

Conn kit G1_4-10 Fg,Sg on Eg-L VE

Conn kit G1_4-14-32 Fg,Sg on Eg-L

Conn kit G124 10/2 Sg on Eg-L VE 1483

Conn kit G124 14/3 Sg on Eg-L VE 1483

Conn kit G124 18/3 Sg on Eg-L VE 1483

Conn kit G124 20/4 Sg on Eg-L VE 1483

Conn kit G124 25/4 Sg on Eg-L VE 1483

Conn kit G124 32/5 Sg on Eg-L VE 1483

Conn kit G1_4-10 Fg,Sg on Eg-H VE

Conn kit G1_4-14-32 Fg,Sg on Eg-H

Conn kit G124 10/2 Sg on Eg-H VE 1485

Conn kit G124 14/3 Sg on Eg-H VE 1485

Conn kit G124 18/3 Sg on Eg-H VE 1485

Conn kit G124 20/4 Sg on Eg-H VE 1485

Conn kit G124 25/4 Sg on Eg-H VE 1485

Conn kit G124 32/5 Sg on Eg-H VE 1485

Conn kit G1_4-10 Eg,Sg on Fg VE

Conn kit G1_4-14 Eg,Sg on Fg VE

Conn kit G1_4-18 Eg,Sg on Fg VE

Conn kit G1_4-20 Eg,Sg on Fg VE

Conn kit G1_4-25-32 Eg,Sg on Fg,VE

Gas burn GK,GE114/G124 8-10/2 Fg

Gas burn GK,GE114/G124 11-14/3 Fg

Gas burn GK,GE114/G124 15-18/3 Fg

Gas burn GK,GE114/G124 19-20/4 Fg

Gas burn GK,GE114/G124 21-25/4 Fg

Gas burn GK,GE114/G124 26-32/5 Fg

Gas burn GK,GE114/G124 8-10/2 Sg

Gas burn GK,GE114/G124 12-14/3 Sg

Gas burn GK,GE114/G124 15-18/3 Sg

Gas burn GK,GE114/G124 19-20/4 Sg

Gas burn GK,GE114/G124 21-25/4 Sg

Gas burn GK,GE114/G124 26-32/5 Sg

Blocking kit LPG for V4400/4600

Pilot gas orifice Nr.3 LPG

Push-on spring 37,5D

Servo pressure control V5306E1010

Pilot gas orifice Nr.5 Natural gas

Pilot gas orifice marking 48 Natural gas

Pilot gas orifice marking 42 FI. gas

Washer 13x18x1,5

Warning sign /NG-H converted

Warning sign /NG-L converted

Label liquid gas

Element of construction

Burner tray 2 Sections

20.07.2010

16

4651867




Ubersetzungsliste
List of translations

Pos

Description

Pressure test nozzle R 1/8" MS

Thermal insulation Burner label 5m long

Element of construction

Double nipple 3/4" x 51

Gasket flat 45x45x1 asbestos-free.

Flange C 3/4" V4400 angular without

Connecting cable Burner 1 Honeywell 1370

Blocking kit LPG for V4400/4600

Gas combination solenoid valve R3/4" V

Union nut DIN2950 3/4" G11/4

O N WN W WDN

Outlet 3/4 with filter element

Gasket D27x38x2mm C4400 Klinger SIL,

Thermo-header as 2-part diverter line

Piezo igniter Q635

Ignition cable 420 long Furig lighting

Adapter gas burner 1stage

Adapter gas burner 2stage

Element of construction

Main gas orifice 1,30mm Drilled hole SW

Washer 13x18x1,5

Limit thermostat RAK74,1/3795, 120-95

Self-tapping screw DIN7516 A M5x10 A3K

Air deflector plate for lighting up

Pilot burner V4400C,4600C,CE423

Screw DIN7500 C M3x6 unit A3K

Pilot gas orifice Nr.10 town gas

Double bevel ring - 6mm

Union nut M11x1,5-6mm

Cutting screw DIN7516 M5x12 A3K

Ignition electrode spiral lighting up

Screw DIN7500 C M3x6 unit A3K

Thermo-element SIT 450mm long

Pipe Pilot gas line 6x1 DIN1712 1000 lon

Cutting ring screw connection D6

Element of construction

Pilot burner diffusion CB505 116

Gasket for lighting up burner

Cutting screw AM 4x10

Pilot gas orifice marking 48 Natural gas

Bevel ring (screw connection 6mm)

Threaded bush M10 6D for diffusion

Threaded bush M10x1

Ignition electrode for diffusion

© 0N O~ WON

Thermo-element SIT 450mm long

Pipe Pilot gas line 6x1 DIN1712 1000 lon

-
)

Cutting ring screw connection D6

20.07.2010 1 7

4651867




Geratetypen
Types of appliances

Gerat Bestell-Nr. Land Bemerkungen
Appliance Ordering no. Country Remarks
AE114 | AE124 V4600 Deutschland, ltalien,Russland, Tschechien

20.07.2010 1 8 4651867




20.07.2010 1 9 4651867



Bosch Thermotechnik GmbH
SophienstraBe 30-32
D-35576 Wetzlar
www.buderus.de

20.07.2010

20

Buderus

4651867



